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ry |:+:n.5 By +sind, j} + r]{cu-s ff +sind, J:l = r,{msﬂiHsin iy j] + r‘_.{t:l:l-sﬂ,j +sind, j]

¥y CO8f, +r c056y = r cosh, + ry cosl,

rsing; +rsind; = £ sind, +rysing,

Loop closure equation
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Position Analysis
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Velocity Analysis
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Acceleration Analysis
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73 €080, = r; cos B, + ry cosfly —r; cosé, By By  oYsme —

. ; 3 J tq Bl g opdyb il Y lg —
rysind; =r;sinb, +r,sinf, —r, sind,
1 . .
rE=nt 4l 41} +2r,r_,(cose, cosd, +sinf, smﬂ,,)

"2"1."2 (Cosﬂl cos 62 +sin 81 sin 02) + 2"2"4 (Cosez COSG,‘ +3in92 Sin 94)

Mbda@fa&w|)h.\.>)y @Th‘ PR a.)‘.bdl@bc;:)w 62 W 94 033 dJ.bLﬂ.A).)
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Acosf, + Bsinf; +C =0
where

A=2nrycos8; —2ryry cost,
B =2rrysin6, —2ryrysiné, »

2 ;o
C=r'+r; +r{ —r —2nry(cos8, cos8, +sinf, siné, ))
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sinf, =
! L+ tan?| %4 (C~A)* +2Br+(4+C)=0
2 >
e
1 —tan? [ t=tan[i‘-]
2 2
cosf, = "(\ ;‘1
| +tan? E‘L Culyian Olgr 93 0 45wl 0 G99 ¥ 4y dilas sl 4o T
2 ’ —
-28+048*~4(C=A)C+4) _p,o\p_c?y g

f —

(C»A) C-A

‘o =+1 is a sign variable identifying the assembly mode
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..)94.3 Jo- 93 SR ‘5‘).: 1) @l Y slaa u‘y 6“04 Q.b)gT S )‘ =

03 - tan_] r[ Siﬂﬂt '*""4 Sinﬂ‘ = ZSinaz
1 cosy +rycosby —r, cosd,

20 51130 ol )8 )13 @y 1S)s O3 S 05 6 pame 355 1S 7y 3 Oygo s &S sl s
59 s salznelAtAN2

ATAN2(sin83. COs 03) =tan™ sind,
costy
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0, sinf, -+ r;6, sinfy = 6, sind,

", cosh; +re; cost =r,b,cosd,
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—-I‘J Sinﬂ_; ?‘4 Siﬂﬂd 6J

?'MBM sin EM
~ry cos@; rycosé, ||6, FaBy cosBy,

M=2and.J=13 for 6,
M =13 and J =2 for 6, as the input

a5 Sa 59y k5 3590 aha po ot s s g5 0 s dunsloma g3l (5 gy s s B9

'.-P = ,:2 -+ f.3 = ("‘rzéz Sin 92 b r3é3 Siﬂ 83 )i + ("28'2 COos 82 + r3é3 C0383 )j

=h+r = (-—r4é4 sin 04)1 + (r4é.. cosfly )i
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rp=r+R="F+Tr,

- g * 2 L L a . 2 LL ] = - -,
1l sind; + 1,05 cosb, + 38, sindy + nd; cosly = 8, sin, + 83 cos f,

o v - ’ . 7 A
nt, costly, — rb; sinf, + r;6; cosfy —18; sinf; = r,8, cosh, + ryf; sinfl,

05 and b, 31 abe O¥ gema ¢ il palan Ot g caspw 0 bgo am,,dquez K

Ferdows/i University of Mashad




leassslSa Julod V' Juad

s J.> Jélﬂ @L»Jd.sg CRYY Gb d33 o &

{-—rj sinf, #,sind, {E»‘J} _ Jtutyy siné,, + rMﬂif cosf,, + rjﬂf, cosf, — r46‘§ cosd,

~ryco88, »,cos0, |14, 8y cost,, —-.;;HHL sinf,, - ;07 sin 8, —r,67 siné,

M =2 and J= 3 for 8, as the input
M =3 and J = 2 for 8, as the input

P35 59y s 5yg0 dlais o Jad OLih (g 0 wiads dwles bagil (5] agly Ol 34
3905 dpmiloea |

- - as = - - , i~ ‘. . 2 L3
p=r+n= -(rzez sinfl +r,8; cosf, +ry6, sinf, + 67 costy ):
- - , . - - "
+(r202 COSGI = rz&i Slnez -+ r303 30803 —?'3032 sin 03 )j

o o5 . : " . . 52 2 -
=F +F, = —(r494 sinf, + 1,62 cos, ); + (r,,G,, costly - 1,6 sin, )
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Position Velocity
A=2nrrycos8) —2ryr,cosby, [—rj sinf, r,sind, ]{&J}= {er?M sin&M}
B=2nr,sinb —2ryr,sinfy —rycos8; rycosty j|8s] |mby cosby

sl g .. ! . g
C=r"+ry+r;—r; —ZI‘ll’M(Cosol cos8y, +sinf, smHM) Py =y =,.23:(_sm32‘-+c0592j)

| -B+oyBI -t 2|

= (—r4é4 sin&]f + (r‘,fh cosf, ) j

8, = 2tan i og=1I
C-4 Acceleration
0. =tan-! 1 sinf, +rgsinf, —ry, sinfy, [—r_; sin@; rysind, HéJ } . {"Mé:y sinfy, + rMéf!, cosdy, +r_,é} cos@; ~ r:ﬂj cosﬁ‘,}
Pk 1 cost +rycosfy —ry, cosfy, —#; eosf; rcosby |16, Y30y cOSHy, — ry e sinfy, — r,6%sin@, + r,05 sin,
p=n=n (c05921 +sind, j) p=n= (—rzﬂz sin@, — 18, cosd, )l + (r292 cosf, - ry0; sin -92) J

¥p = -(r4§4 sin@, + 1,67 cos b, )r‘ + (r454 cost, — ] sin, ) j
rp=n = rz(cosazr’ + sinGIj) +r,(cose3i +sin63j)

=R+n= r,(coso.i +sin G,j) + r4(coso,,i+ sin(i,j)

ry =1, = ri(cos8,i +sin8, )
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rg = 1, o l, ry= 35. Fy = 4, and 9, =0 S Sygo 30 w0 ppslSa yoiJla
gl s o ¥ 51 S Frand By ol
#,=0, w2, w, and - 72
fore, =0

A=12nrycos, =2nr cosh, = 2(1)(4) -2{2X4) =-8
B=2nrysinf, =2nr,sing; =0
C=rl+r+ri-r -2r,rz(cosﬂl cosf, +sin 8, sinﬂz) =11 +2%+47-357 -2(1)(2)=4.75

i Zlan.,{-B-o-o'\JB’ % +A’:l
‘2

C-4

0+ Jo’ - 475" +(-8)’
475+8
X ]

-

=2tan"'(0.5049) = 53.58°

=2tan’

py— ry sinf +r, sinB, —r, siné,
7, cos b, +r, cosby —r, cosd, |

4sin(53.58°
=tan” SE) sl ::m“'P-Jﬂ = tan™'(2.3412) = 66.87°
L+ dcos(53.58°) 2 1.3748
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f, o A B c 0, 8y
0 1 -8 () 4,75 53.58° 66.87°
-1 - 53.68° - 66.87°

/2 1 87 - 16 8.75 177.28° - 143.85°
-1 55.85° 21.98°

T 1 24 0 12.75 - 122.09° - 75.62°
-1 122.09° 75.52°

~ 7/21 1 8 16 8.75 - 55 8k° -~ 21.98°
- -177.28° 148.85°
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8, =0 =@y 6, 8, 8, =)= b8, = 10rad/s and §, = 0

~nsinty  rsing, [[6,] [n6,sing,

~r,cos8, r,cosd, |6, 56"2 cos @,

_| ~35sin(66.87°) 4sin(53.58°)7[4,] [2(10)sin(0°)] [-3.2187 3.2187 o [o

[ 35cos(66.87°) 4cos(s3.58°) [(4, | T |2(10)cos(07)] | ~1.3749 23748}, | ™ )20
—) 8;= 20 rad/s and 6, =20.0 rad’s

-rysinf; r,sinég, ]{53} B {:552 sinf, + r,0; cos8, + 16 cos, — r0; cos 8‘}
84

|~ cosby r cosé, 18, cosf, — rd; sind, — 6} sing, - r0; sin @,

[-3.2187 3.2137]{5,} - {o +2(10)" +3.5(20)" cos(66.87¢) - 4(20)" cos( 53.58')} . {-200.0265}

-1.3749 2.3748 )|, 0-0-3.5(20)" sin(66.87°) + 4(20)’ sin( 53.58) ~0.0363

) 3, = 147.5634 rad/s? and §, = 85.4150 rad/s?

/
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fs, 6, and 6 are known ol

o=y 'l'.l'ﬁ

e =1+ rﬁ(cns B¢ +sin 35_;)
G = B+0;
fo=¥F+ !gf;‘s(-sin f.i +cos 3ﬁj)

X

— -

P =Fy + 5| ~sin g +cosfly j) - 1,63 (cos i +sin, j)
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05 = tan"
g, — T4

- -

Ty =Fy +rs0s (—-— sin @i + cosfl j )

. ’:8 -7 i‘B - ’.:‘
8 TR ) - “. - ‘i .
resmés  rscost.

Fg=F, + r555 (-sin i + cosb j)—rg;éf(cos&si +sm Osf)

(FB‘ =7 ) + ;07 cos b (i"g' - F-ir )+ rsﬂsz §inf;

85 - . =
5 5in 85 Iy COS 85
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n=lrn=2rn=315r=4and@® =0 1y Eg e ks g casyos b Jlite o1 Jlke

8;=0, 6;=10rad/s, f; =0, and =1 - o

g =tan" (21] = 26.565°

7y = AE =2.0/c0s(26.565°) = 2.236 cm

g, = r0, (— sin 8,7 + cosé, j) + r6-6'3(-sin Ggi + cos j)
8,=0, 8, =66.87° &,= 10.0 rad/s, and §, = 20.0 rad/s
8, =8, + B =66.87° +26.565° = 93.435°

7e. =2(10)(0i + j)+2.236(20.0)(-sin(93.435°)i + cos(93.435°) )
=20j - 44.640f - 2.679 ] = ~44.64i +17.32 ] cm/s
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a“s

Fe = rB;(~sind.i +cosd, j) - rif: (costi +sind, j)

-

+r683(—-sin 8. +cos 961) - r(,é; (cos 8.i +sin Oﬁj)

B,= 0,0, =66.87° 8, = 10.0 rad/s, 8, = 0 rad/s’, #, = 20.0 rad/s, and 6, = 147.56 rad/s>

e =0-2(10) (i +0,) + 2.236(147.56 [ - sin(93.435°)i + cos(93.435°)]

~2.236(20.0) [cos(93.435° )i + sin(93.4357) j| = —475.76i - 912.56 j cms’
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rF =r2 +r3 =!‘1 +r4

ﬂq =6]+1T/2

r,5ind; +rysinf; = sinf, + ry sinf,

¥ e

1y cosfl, +r; cosfl, =r cosl, +r, cosh,

5L L3y RS w8 S S 5o b 598 w¥slas
el cl(01) o sy Ll 08 o pis T sy 85180 6 alss drgs

ry. . 1y, 0,, and 8, are constants  If 8, Is given, solve @, and r, in terms of &,
if 85 1s given.  solve &, and r, in terms of 8,
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K 69999 92 6‘5233 gilj—b.\s)‘.éj MKA %ﬁy J:-

933 rl Qy’Q:.u
r; cosfy =1y cos@, +r; cos@y —r; cosd,

rysinfy = r; sind +rysinfy - r, sinf,
re=rt el + 2r1r4(cos @, cosf, +sind, sin 64)

-2nry (cos f, cos#, +sinf, sin b, ) - 2r2r,,(cos 8, cosf, +sinf, sin 94)
A=2r, (cos g, cosfl, +sinf, sin 84) -2r (cos 8, cosd, +siné, sin 82)

B= rzz + r} - :32 -2r2r4(cosez cosfly +sin @, sin84)

R+ Ar+B=0
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s

_—A+o\ A -4B
2
o = %1 is a sign variable identifying the assembly mode

i
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r, can be complex (42 < 4B)

Ferdows/i University of Mashad

oo Hloz 0580 sy wYslaa ©




a5l ooV Jund

gl e y O3 ey il ¥ slan I 03 s ¢ ot dolona [ o5 3

-1] #i8inb, +r;5in 8, —r,sind,

83 = fan
ricosf +r; cosf, —r; cost,

35 o |y O3 Slilie 4o 1y e ALANZ b 51 sslinal
S0 e |y (6ylop dil> 59y dhad 1 Dlaiie Gl9 0 Joeme DS dpwles 5l g

rp=n+n =r§(cost?2i+sinezj)+ r,(cosﬂji +sin83j)
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il (52958 I'l &S S8 &U—a.:})'.é.’ ﬁf-’&ﬂ Casbaa Jo

Ay rsing, +rsinfy = sinb, +rysinf,
’ Pﬂ , r; cosfl, +1; cosfly = cosé, +r, cosh,
Q LN o sl g3 ¥olae 4 Fg G b
P // —
I 4 .
. e 712 \ Acos, + Bsin, +C =0
// ‘I

‘>( r,

0,

A =-2rir, cosf, - 2rr cosb,
B =-2nrsinb, —2r,r,siné,

2 2 2 . ;
C =h +P"2 +?'4 __’,,32 +2?'|r4(00391 00594 +Slﬂ61 3“194)
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A(l—t2)+3(2t)+C(1+r2) =0

t=tan[%2—] E— (C-4)®+2Bt+(4+C)=0

—23+0-J432 ~4(C‘—A)(C+Aj  _BtaVB -C?+ 4

Z(C——A) = C-4

I ==

ﬂi — 2 tan i r
o= x| is a sign variable
identifying the assembly mode
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Te=F+K=F+F,
-rzez Sin 82 "rséJ Sin 83 = ;‘l cos 9|
@, cos@, + r,é, cosf; = rysiné,
cosy r,sinf; ||f| _ —ry 0y sinB,,
sinf, -r,cosd, ||6, rMéM cosf,,
M =2 and J= 13 for link 2 as the input,
M =3 and J = 2 for link 3 as the input.

If 7, is input,

then 6, and 65 will be unknown ' [
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—r;0, sin@, —r,03 cos@, — ryf; sind; — 7 cosd, = 7 cos,

7262 00802 -fzézz Sin02 +r363 cosaa -’3&32 Sino’ = ;'l Sinel
cosﬂl ry Sino"' Fl -ruOM smO“ "moz Coso“ "'P'JOJ cosO,
sinO, =y COSGJ 01 rMGu COSOM -rMOM smGM-rJOJ 31n0_,

M =2 and J= 3 for link 2 as the input,
M =3 and J = 2 for link 3 as the input.

If 7, is input, then 8, and 8, will be unknown

-nsinf, —r;sinb, 02 rzéz2 cos8, + 162 cosd; + 7 cosb,
r,cosd, rcost, 8, 105 sind, + rJé} sinf; +r; siné,
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Ay
P
3 i 9[..49‘ LS‘
? rpe3 /// R s olg e Sl
by /’ 04 ) ad> 9
- /2 \
\( .
6,

f‘P = l‘z + l'."3 - (-'?'26-'2 Sin 92 — r}ﬂ._; sin 63)i +(?’19‘2 COS Bz + rjéj COS B})}-
Fp=F +8 = «(rﬁz sin@, + ;03 cos®, + r,0; sinb; + 107 cosB,)l

+{r252 cosf, - rzé§ sinf, + r;0; cos g; - r;0% sin o, )j
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0] q = 1.0 rad/sec

ol ol ) E ey _las

o 4= 0.0 rad/sec

l, = 1.035 cm
|, =2.0 cm
|3= T cm

l4 = 2.259¢cm
| 5= 1.035¢cm

4 5
\D/\/%\’\— velocity scale: Tem/sec = 2 cm
C ~0E|

acceleration scale: 1ecm/sec 2_ 2 cm
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O1 ﬁiﬂ 02
I, T
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b oy [, (TFACING POINT) eSjo ypns sl aivls JalS

_ Connecting
Tracing link

point

d | d

2a=1cm, h=05cm, 2d = 10 cm, and that the arms have equallength 7
cm.
Ferdows/i University of Mashad
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